KHAN GLOBAL STUDIES

Most Trusted Learning Platform

> - h -
L x|

By Dhrub Sir




UPSC CSAT

5. Jan 5, 1991 was Saturday. What day of the 5.5 G9! 1991 &I UfAaR 4TI &t 3 AT 1992

week was on March 3, 19927 & TE BT B4 A1 3= un
a. Monday a. GIHaAR
b, ~Tuesday W
c. Thursday c. T¥aR

d. None of these d.mﬁm?ﬁ
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6. January 1, 1992 was a Wednesday. What ¢ 1 g=adl 1992 & qYarR T, @ 1 S=Haa

was the day on January 1, 1993? @ 1993 & HI9-91 fe7 U
-
a. Monday % ] wa AR
b. Tuesday ﬁﬁl 1933 . mmw

nday
d/ Friday .
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7. If 17th March 2008 was a Monday, what 7. af¢ 17 AT 2008 & ¥HaR 41, &t 1 30w

day was 1st April 2012? 2012 B B1-T1 fR7 U
\%nday \}Aﬂﬂ
b. Monday b. HIHAR
c. Friday c. YPAR

d. Saturday d. IfFarR
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8. Monday falls on 4th April, 1988. What g , sitw 1988 #) WIHaR gSdr gl af 3 949,

was the day on 3rd November, 19877 1987 B! &9 91 fe7 4
a. Monday a. AR
b. Sunday b. WAaR

\/ Tuesday \/tfrmn

d. Wednesday d. YaR
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9. Today is 1st August. The day of the week is 9. 3(T9 1 3R ¢ 9§ ¥ i3 WHaR 21 U8
Monday. This is a leap year. The day of the U® ®u a4 g1 3 af a1g 39 37 wwmE &1 #14-

week on this day after 3 years will be : a1 &= ghm
a. Wednesday a. quUar l k\"‘%
ﬂursday \/b/ﬁ!ﬂ M'D'\/\ 1-,*\*—\
c. Friday c. APAR

d. Saturday d..!lﬁﬂl'! Mon +X :@
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10. Mr. ‘X' has three children. The birthday of 10. ey oy & a9 ¥=2 £ Tgd I &I
the first child falls on the 5th Monday of April, Ffe= e & 53 WHAR F USdT 8, T BT
that of the second one falls on the 5th FdaY & 5d AR &I USdl gl I7& dlaR a=
Thursday of November. On which day is the T wfe fFw 2= 2, &t 20 fewaw &) yzar &2

birthday of his third child, which falls on 20th UPSC PT 2020
December? UPSC PT 2020

a. Monday a. GIHAR

b. Thursday b. AR

c. Saturday c. AfFaR

d. Sunday d. Ifaar
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11. In the particular year 12th January is a 11. f&sft Ay ad & 12 o=adt & AR B, @
Sunday, then which one of the following is Prafifad § | 19 98 22

correct? UPSC PT 2020
UPSC PT 2020
a. 15th July is a Sunday if the year is a leap a.ﬂﬁﬂ‘éﬁﬂﬂta} 15 mm?l
year. ; : : b.ﬂﬁ“mﬂﬂﬁeﬁlsmmtl
b. :;t:;:a?. is a Sunday if the year is not a c. f2 ad dg ad 2 umﬁmt'
c. 12th July is Sunday if the year is a leap d. afe af &ty adf 8 at 12 e &1 AR 7 21
year.

d. 12th July is not Sunday if the year is a
leap year.
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12. The year next to 1991, having the same 13 1991 & M f&w ad &1 FaAsT 1991 ST

calendar as that of 1991 is B g
a. 1998 a. 1998
b. 2001 b. 2001
c. 2002 c. 2002
d. 2003 d. 2003
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13. The year next to 1988, having the same 13. 1988 & 3T f&w af &1 HAST 1988 o §

calendar as that of 1988 is g
a. 1996 a. 1996
b. 2004 b. 2004
c. 2016 c. 2016
d. None of these d. 39H | &g 78!
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14. The last day of a century can be 14. 5l 98 &1 anfRA T A w1 &
a. TueSday a m
b. Wednesday b. FUAR
d. Saturday d. oifEar
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1) A watch which gains uniformly ,is 5 1) U® U3l &l HH ¥U & Fgd! 8, 98 JdaR
min,slow at 8 o'clock in the morning on 31 4496 8 a9 5 fi=e dhdt =) gt g 3R
sunday and it is 5 min 48 sec. fast at 8 TR AR $ 74 8 T 5 AT 48 AFs

p.m on following sunday. when was it oW (BR<) Bldl 81 U8 US! ®d Wal 9GHY

correct? qdl Ta 4

a) 7pm on Wednesday a) qUAR I UH 7 T

b)” 20 min past 7 pm on Wednesday \_b)-HUaR F I 7 Wi 20 fiFe
¢) 15 min past 7 pm on Wednesday ¢) qUAR B UH 7 FaH 15 fA=e

d) 8 pm on Wednesday d) GUAR B I 8 T




2) In a watch, the minute hand crosses the ) waﬁﬁﬁqzaﬁq{mmﬁsn;
ue 18 fiFe ok 15 %3 & arg diw dud
IR U 3 FE B! IR (PIN) Hd! 21 g v
s f& & fa=n dw ar &t gt 2

hour hand for the third time exactly after
every 3 hr 18 min and 15s of normal time.
What is the time gained or lost by this

watch in one day?

a) 14 min 10 s lost

\/b‘é min 48 s lost

¢) 13 min 20 s gained
d) 14 min 40 s gained

a) 14 fi=e 10 ¥Fs it gt

13 fire 48 9&s it gift
¢) 13 e 20 9% s &1 999 d ghft
d) 14 fiFe 40 5 199y A= gt
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3) Find the time between 11 am and 12 pm, 3) 11 aﬁqgfnamam 12 99 & 919 &1 39
when the angle between minute and hour Y B FId Difee, o9 B=e 3R °e $t '\‘[g

hand is 45 degrees. & dha &1 Hior 45 3 81

Sy S N
\}A)/min past 11 Mfﬂ'ﬁﬁ&%ﬁ S [ — Ny

(B) 13 in past 11 b) 11d9®x 13 fiFe ll

(C) 12 min past 11 ¢) 11auaR 12 fi=e

(D) 68 2/11 min past 11 d) 11d9®R 68 2/11 fi=e
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4) Between 5 and 6, a lady looked at her 4) 5 maﬁtmwmﬁmm
watch and mistaking the hour hand for the U3 TR U3 3R I °e Bl Y§ B e It
minute hand, she thought that the time ¥ wug forar 3k I/ o7 ¥ & vt &1
was 57 minutes earlier than the correct HHY el 99Y | 57 fae ugd &, o) 9aee

time. The correct time was & fPaaTIug g I|T YT ?
\yl{ minutes past 5 a duidr 24 fﬁq'z’

b) 12 minutes past 5 b) 5awHT 12 fA=e

¢) 36 minutes past 5 ¢) 5qudT 36 e

d) 48 minutes past 5 d) 5auPT 48 fi=e
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5) The minute hand of a clock overtakes the 5) U® U3! &1 fi-c & Jg Wl 9HI & 76 fH=1e
hour hand at intervals of 76 min of the & 3fAvd W °e @I P& A fa«t 8, @t aagC
correct time. How much does a clock gain f& dg ﬂ'@ Tdh ﬁ’-l # fdaar aw ar 9t 99y

or lose in a day ? garai g ?
a) 198 min (loss) a) 198 fiee (iﬁ“ﬁ)
b) 198 min (gain) b) 198 fie (a'\'ll')
\})/1;9 169/209 miin (loss) \ £ 199 1697209 fre (dfiefh)

d) 199 min (gain) d) 199 fiFe @)
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